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Class | f X CF. R.F. x—% | fx=%) | fx=22% | fx—-%3 | f(x—2)*
0-10 | 1
10-20 | Y
20-30 | 5
30-40 | 4
40-50 |
Total
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Number of side effects in 12-week clinical trial
Drug B n=188 | Drug A n= |Placebo n=192 Side effect
186
19 32 10 respiratory congestion
32 25 11 Sinus headache
12 46 2 Stomach ache
72 55 34 Neurological headache
31 18 22 Cough

) What were the variables under study. Its type. Its measurement level?

I1) What is the probability that a person was receiving a
placebo(Al) or drug A (A2)?

111) Compute the probability that a person was receiving a
placebo(Al) and has a neurological headache (A3)?

IV) Find the probability that a person was not receiving a
placebo(Al) or has a sinus headache(A4)

V) If you know that the person has Stomach ache (A5)
what is probability that he is receiving drug B (A6)
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